NSN 3720-01-020-3434 AeroBase
Pitman Assembly - Page 1 of 1 » Group

View Online at https://aerobasegroup.com/nsn/3720-01-020-3434

End Application:

International harvester model 154 tractor w/222 mower

General Description:

Consists of the following parts-545352r1 pitman and 481169r1 flange, pitman brg and 19612r91 fitting, 1/4-28 90 degrees self tap lub and
939475r91 bearing, pitman ball and 557115r11 collar w/set screw, brg and 462305r1 flange, pitman brg and 22475r1 bolt, 3/8 by 5/8 znd
sq-nk crg-4 and 120382 washer, 3/8 znd reg lock-4 and 120377 nut, 3/8-16 znd hex-4 and 481170r1 strap, pitman-2 and 18675r1 bolt, 5/16
by 1-3/4 znd sg-nk crg-4 and 120214 washer, 5/16 znd reg lock-4 120376 nut, 5/16-18 znd hex-4 and mal577 strap, pitman front and m1578
strap, pitman rear and 180087 screw, 5/16-18 br 2 znd hex-hd cap-4 and 120214 washer, 5/16 znd reg lock-4 and 120376 nut, 5/16-18 znd
hex-4 and mc1579x fork assembly, pitman latch and mal573 plunger, pitman spring and 3785 rivet, pitman latch fork and mal574 spring,
pitman plunger

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No


https://aerobasegroup.com

